Anderson 1909
Bu 

taitneach 
r’ 

a 
 

fhaicinn 
an 
t-saothair 
a 

ghabh 

a 


pharantan, 

cop 
pleasant 
with 
3sm.poss 
see.vn 

the
pains 

wh-C 
take.past 
3sm.poss 
parents
ris


[ann an] 
làithibh òige.

with.3ms
in 


days youth.gen

“Pleasant to be seen were the pains his parents took for him in the days of his youth.”

AZSGP:  r’a ( ri; laithibh is awkward;  Sort of ok but very formal and awkward in the modern language

B’ 

àluinn 

an 
là 

[ann an] 
cèitein 

an 


t-samhraidh ‘n uair 
a 

dh’fhalbh mi.

cop 
beautiful 
the
day 
in 


first.month 
the.gen 
summer.gen the hour wh-C leave.past 1s
 “Beautiful was the day in the first month of summer when I left.”

AZSGP   first month = may

AZSGP: B’ àluinn 

an 
là 

anns a’ 
chiad mhios dhen t-samhraidh ‘n uair 
a 

dh’fhalbh mi.

AZSGP: Awkward and old fashioned

Is 

ni 

math 
coiseachd.

cop 
thing 
good 
walk.vn
 “Walking is a good thing.”

AZSGP: Sounds antiquated, but ok

Is 

math 
an 

ni 

coiseachd.

cop 
good 
the 
thing 
walk.vn
“Walking is a good thing.”

AZSGP: Sounds antiquated, but ok

Is 

fheàrr 

coiseachd 
na 

seasamh.

cop 
good.deg 
walk.vn 
than 
stand.vn
 “Walking is better than standing still.”

Ex. of simple sentence of attribution in case of complex attribute.

Note:  original had fearr

Is 

ainmhidh 
bò, 
bho 
'm 
faighear 
bainne.

cop 
animal 
cow 
from 
the
get.pass 
milk

 “A cow is an animal from which milk is gotten.”

Ex. of sentence of classification.

Is 

eun 
sgarbh, 
a 

thig 

beò 
air iasg.

cop 
bird 
cormorant
wh-C 
come.fut 
alive 
on fish

 “A cormorant is a bird which lives on fish.”/ “..that comes alive on fish.”
Ex. of sentence of classification.

Is 

gnothach 
anabarrach 
iongantach 
e.

cop 
affair 

exceedingly 
strange 

3sm
 “It is an exceedingly strange affair.”

Ex. of sentence of classification.

Is 

miorbhuil 
gum 
b’ 



urrainn 
dhut 
a 


dheanamh.

cop 
marvel
that 
cop.rel.past 
ability 

to.2s 
3sm.poss 
do.vn
 “It is wonderful that you were able to do it.”

Ex. of a sentence of classification.

Is 

mise 

do 


bhràthair.

cop 
1s.emph 
2s.poss 
brother

 “I am your brother.”
AZSGP: modern
Is i sin bean-tighe.

cop she that housewife

 “She there is a housewife.”

Is 

bean-tighe 
i 

sin.

cop 
housewife 
she 
that

 “Her—that one—is a housewife.”

Note: a sentence of classification.

Is 

e 

Seumas 
righ 
Shasuinn.

cop 
3sm 
James 

king 
England.gen

 “James is king of England.”

Ex. of use of pleonastic pronoun and its agreement in gender and number with subject of sentence.

AZSGP: Ok with S’ e instead of is e
Chan 

e; 

is 

e 

Uilleam an righ.

 cop.neg 
3sm 
cop 
3sm 
William the king

 “He is not; William is the king.”

Ex. of use of pleonastic pronoun and its agreement in gender and number with subject of sentence.

AZSGP: Ok with S’ e instead of is e
Is 

i 

Màiri a’ bhanarach.

cop 
3sf 
Mary the milkmaid

 “Mary is the milkmaid.”

Ex. of use of pleonastic pronoun and its agreement in gender and number with subject of sentence.

AZSGP: Ok with S’ e instead of is i.   
AZSGP always uses e no matter the gender.

B’ 


iad
na 
Gaidheil 
luchd-aiteachaidh 
na h-Eireann.

cop.past 
3p 
the
Gaels 

inhabitants 


the Ireland.gen

 “The Gaels were the inhabitants of Ireland.”

Ex. of use of pleonastic pronoun and its agreement in gender and number with subject of sentence.

AZSGP: Ok with B’ e instead of B’iad.   
AZSGP always uses e no matter the number.

AZSGP finds antiquated.

B’ 

i 
(a)
oidhirp 
a h-uile 
ni 

ionnsachadh.

cop 
3sf his
endeavor 
the every 
thing 
learn.vn
 “It was his endeavor to learn everything.”

Ex. of use of pleonastic pronoun and its agreement in gender and number with subject of sentence.

AZSGP finds antiquated.

AZSGP: Ok with B’ e instead of B’i.   
AZSGP always uses e no matter the number & gender

B’ 


i 

a’ 
chomhstri 
co 

bu 


luaithe ruigeadh 

am baile.

cop.past 
3sf 
the
contest 
who 
cop.past 
sooner reach.cond 
the town

 “The contest was who should soonest reach the town.”
Ex. of use of pleonastic pronoun and its agreement in gender and number with subject of sentence.

AZSGP finds antiquated.

AZSGP: Ok with B’ e instead of B’i.   
AZSGP always uses e no matter the number & gender

Chan
 
e 

bhi 
an-seo as 


àill 
leam.

 cop.neg 
3sm 
be.vn 
here 
cop.rel 
desire 
with.1s

 “It is not my desire to be here.”

Ex. of use of pleonastic pronoun and its agreement in gender and number with subject of sentence.

AZSGP: Ok

Am 
fear 
a 

streapas, 
‘s 

e 

am fear 
a 

thuiteas.

 the 
man 
wh-C 
fall.rel 
cop 
3sm 
the man 
wh-C 
climb.rel

 “The man who falls, he is the man who climbs.”/ “The man who climbs is the man who falls”
Ex. of how a clause in apposition to the complement of the predicate may precede the verb.

Co 

ruigeas 
am baile an 
tùs, 
‘s 

i 
sin 

a’ chèist.

who 
reach.rel 
the town the 
first 
cop 
3sf dist
the question

 “Who will reach the town first, that is the question.”

Ex. of how a clause in apposition to the complement of the predicate may precede the verb.

AZSGP prefers with S’e instead of ‘s i

Is 

e 

Seumas 
e.

cop 
3sm 
James 

3sm
 “It is James.”

Ex. of how a pleonastic pronoun takes the place of a demonstrative pronoun when it is predicated of a proper noun.

AZSGP: Finds weird and very strange (Language change seems to be at work)

Is 

i 
ar 

bò 

i.

cop 
3sf our 
cow 
3sf
 “It is our cow.”

Ex. of how a pleonastic pronoun takes the place of a demonstrative pronoun when it is predicated of a proper noun.

AZSGP: Finds weird and very strange (Language change seems to be at work)

Is 

ann
 
a 

tha 

sibh 
ri 

feala-dhà.

cop 
in.3s 

wh-C
be.pres 
2p 

with 
joking

 “Surely you guys are joking.”

Ex. of use of “is ann” which completes a copula with its subject as an emphasized substantival relative clause.

Mar 
a 

b’ 


aird’ 

dhìrich 
iad, 
b’ 

ann 
na 

bu 


lìonmhoire

as 

wh-C 
cop.past 
high.deg 
climb.past they 
cop 
in.3s 
cmp
cop.past 
plentiful.deg
‘s 

na 

bu 


thruime 
bha 

na 
grainneinean 
òir 


a 

fhuair iad.

and 
cmp 
cop.past 
heavy.deg be.past 
the grains 


gold.past 
wh-C 
get.past they

“The higher they climbed, the more plentiful and heavier were the grains of gold which they found.”

Ex. of use of “is ann” which completes a copula with its subject as an emphasized substantival relative clause.

Chan 

ann 
mar 
sin
 
a 

rinneadh 



e.

cop.neg 
in.3s 
as 

dist 
wh-C 
do.cond/do.pass.past 3sm
 “It isn’t like that that it was done.”

Ex. of how an adverbial adjunct of the predicate of the substantive clause may be placed before its verb.

 Chan
 
ann 
gum 
bheil
 sin 
fior.

 cop.neg 
in.3s 
that 
be.inter dist 
true

 “Not that that is true.”

Ex. of “is ann” followed by a clause, implying some unexpressed verb of speech or thought of which it is the object, introduced by “gu ‘n” or “nach.”

Chan 

ann 
a 

tha 

mi ‘g 

ràdh 
gum 
bheil 

sin 
fior.

cop.neg 
in.3s 
wh-C 
be.pres 
1s 
prog 
say.vn that 
be.inter 
dist true

“It’s not that I’m saying that that is true.”

AZSGP: doesn’t like.

Thubhairt 
fear 
glic 
sin.

say.past 
man 
wise 
dist
 “A wise man said that.”

Ex. of a statement without adjectival emphasis.

Bu 


ghlic 
am 
fear a 

thuirt 

sin.

cop.past 
wise 
the 
man who 
say.past 
dist
 “The man who said that was wise.”

Is 

oidhche 
fhuar 
i.

cop 
night 

cold 
3sf
 “It is a cold night.”

Ex. of a direct statement.

Is 

fuar 
an 

oidhche 
i.

cop 
cold 
the 
night 

3sf
 “A cold night it is.”

Is 

fuar
an 

oidhche.

cop 
cold 
the 
night

 “The night is cold.”

Bu 


dileas 

an 

gille 

e.

cop.past 
faithful 
the 
boy 
3sm
 “A faithful boy he was.”

Note: Another sentence with emphasis on the adjective by using of pronoun in apposition.

Bu 


ghille 
dileas 

e.

cop.past 
boy 
faithful 
3sm
 “He was a faithful boy.”

Bu 


dileas 

an 
gille.

cop.past 
faithful 
the boy
 “The boy was faithful.”

Ex. of the change made in the emphasis of a sentence when the pronoun in apposition is eliminated.

Is 

eagalach 
an 
duine 
thu.

cop 
timid 

the person 2s

 “You are a timid person.”

Ex. of another sentence with emphasis on the adjective.

AZSGP: eagalach colloquially means “dastardly”

Is 

tric 
a 

chuala 

mi 
e.

cop 
often 
wh-C 
hear.past 
1s 
3sm
 “I have often heard it.”

Ex. of a relative clause used as a substantive clause and subject of the copula, with the adverb “tric” thus becoming an adjective modifying it.

Is 

beag 
a 

shaoil 


mi 
e.

cop 
little 
wh-C 
imagine.past 
1s 
3sm
 “Little did I imagine it.”

Ex. of a relative clause used as a substantive clause and subject of the copula, with the adverb “beag” thus becoming an adjective modifying it.

Is 

olc 
a 

rinn 

mi 
e.

cop 
badly 
wh-C 
do.past 
1s 
3sm
 “I have done it badly.”

Ex. of a relative clause used as a substantive clause and subject of the copula, with the adverb “olc” thus becoming an adjective modifying it.

Olc means evil

Is 

cinnteach 
a 

tha 

mi 
gur 

fìor 
e.

cop 
certain 
wh-C 
be.pres 
1s 
cop.rel 
true 
3sm
 “I am certain that it is true.”

Ex. of when an adjective completing the predicate of a direct statement is taken to complete the predicate of the principle clause of a complex sentence, leaving the predicate of the subordinate clause incomplete.

Nach 


dorcha 
dh’fhàs 

e!

cop.neg.int 
dark 

grow.past 

3sm
 “How dark it has grown!”

Is 

fada 
bho 
na
 
chuala 

mi 
e 

roimhe.

cop 
long 
from 
wh-C 
hear.past 
1s
3sm 
before.3sm
 “It is long since last I heard it.”

Ex. of how the predicate, formed of copula and adjective, is related to by an adverbial clause

AZSGP: nach instead of na. But very awkward

Is 

olc 
gun d’ 

rinn 

mi 
e.

cop 
ill 

that past
do.past 
1s 
3sm
 “It is unfortunate that I did it.”

Ciamar 
a 

tha 

iad
‘ga 


fhaotainn?

how 

wh-C 
be.pres 
3p 
at.3sm.poss 
get.vn
 “How are they getting it?/How do they get it?”

Chan 

ann 
an-diugh 
a 

rinn 
mi e.

cop.neg 
in.3sm today 

wh-C do.past 
1s 3sm
 “It is not today that I did it.”

Ex. of how an inverted subordinate clause tends to remain complete when a prepositional phrase or any adverbial adjunct is to be emphasized.

Bidh 
mis’ 

a’ 

togail 
orm 
am màireach.
be.fut 
I.emph 
prog 
lift.vn 
on.1s 
the morrow

 “I will be starting tomorrow.”

Ex. of a direct statement.

Is 

mise 
(a) 

bhios 
a’ 

togail 
orm 
am màireach.
cop 
I.emph wh-C 
be.rel 
prog 
lift.vn 
on.1s 
the morrow
 “It is I who will be starting tomorrow.”

Is 

cù 

a 

mharbh 
thu.

cop 
dog 
wh-C 
kill.past 
2s

 “It is a dog that you killed.”

Note: emphasis on object of verb instead of subject as in a direct statement.

AZSGP: wants to use ‘s e instead of ‘e  (Language change again)

Is 

e 

an cù 

a 

mharbh 
thu 
e.

cop 
3sm 
the dog 
wh-C 
kill.past 
2s 

3sm
 “The dog is what you killed.”/ “It is the dog that you killed”
Ex. of how, when the element to be emphasized cannot complete the predication of the copula, it is made the subject, and in apposition is an adjectival clause used as a substantive clause.

An 

e 

gur fìor 
e?

cop.inter 
3sm 
cop true 
3sm
 “Do [you mean to say] that it is true?”/ “Is it that it is true”
Ex. of sentence in which emphasize substantival clause is object of some unexpressed verb of thought or speech.

Is 

ciobair 

againn 
cù.

cop 
shepherd 

at.1p 

dog

 “A dog is our shepherd.”

Ex. of a direct statement.

AZSPG: Does nto like at all

Is 

cù 

an 
ciobair 
againn.

cop 
dog 
the shepherd 
at.1p

 “Our shepherd is a dog.”

with construction of emphasis.

AZSGP: Better but not great.

Is 

rìgh 
an 
cam 


[am measg] 
nan dall.

cop 
king 
the one-eyed.man among 

the blind.gen

 “A one-eyed man is king among the blind.”

Ex. of a direct statement.

AZSGP: Antiquated

Is 

e 

an 
cam 


as


rìgh [am measg] 
nan 

dall.

cop 
3sm 
the one-eyed.man
cop.rel 
king among 

the.gen 
blind.gen

 “It is a one-eyed man who is king among the blind.”

AZSGP: is unfamiliar with as, relative a is unknown.  BUT Is familiar with the usage as a comparative marker (as = a is)

Chan 

eagal 
dhuinn.

cop.neg 
fear 
to.1p

“We need not fear.”

Ex. of emission of subject of copula, which retains in itself the meaning of the pronoun.

AZSGP: 

Nì 

mi 
e, 

ge 


b’ 


oil 


leotha.

do.fut 
1s 
3sm 
although 
cop.past 
vexation 
to.3p

 “I will do it in spite of them/although it were a vexation to them.”

Is mithich dhuinn a bhith bogadh nan gad.

cop time to.1p to be steeping the switches.gen

 “It is time to be steeping the switches.” (Idiomatic phrase meaning, “It is time to be going.”)

Seo 
agaibh
e!

prox 
to.2p 
3sm
 “Here you have it!”

Coma 


leam 
e.

indifferent 
with.1s 3sm
 “It’s all the same to me.” (May imply: “I don’t like it.”)

AZSPG put ‘s in front

Urram 
na 
h-uaisle 


dhuibh; 
gabhaibh air ‘ur 


n-adhart.

honor 
the nobility.gen 
to.2p 

go.fut 

on 2p.poss 
front

 “Yours is the honor of nobility; go forward.”

Ex. of how an imperative of the copula is implied in the third person.

Oidhche 
mhath
leibh!

night 

good 
to.2p

 “Good night to you!”

Gu 
math 
fada 
bhios 
sibh 
beò, 
is 

ceò 
as 

ùr 


taigh!

Opt 
good
long 
be.rel 
2p 

alive 
cop 
smoke out.of 
2p.poss 
hearth

 “Long may you live, and smoke to your hearth!”/”Lang may your lum reak.” 
Ex. of how the future of the copulative, preceded by “gu,” expresses a wish. The verb of wishing is understood; “gu” introduces a substantive clause, which is the verb’s object.

Is 

àithne 


dhomh 
e.

cop 
acquaintance 
to.1s 

3sm
 “I am acquainted with him.”

Ex. of a petrified idiom formed by the copula with its complement.

Is 

lèir 


dhomh 
sin.

cop 
perception 
to.1s 

dist
“I perceive that.”

AZSGP: lèir = light “is there enough light to you”

Is 

beag nach d’

rug 

iad
air.

cop 
little neg
past
catch.past 3p
on.3sm

 “They almost caught him.”

AZSGP: weird must be from a different dialect

Cha 

mhòr 
nach 
d’

rug
 

iad.

cop.neg 
big 
neg 
past 
catch.past
3p
 “They almost caught (him.)”

AZSGP: They nearly gave birth.   Need “air” at end to mean caught.

Is 

àill 

leam 

a 

ràdh.

cop 
pleasure 
with.1s 
tran 
say.vn
 “I am glad to say.”

AZSGP: Ok, but it’s Lewis

Nam 
b’ 



àill


 leat.

if

cop.inter.past
pleasure 
with.1s

 “If you please.”

AZSGP: Ok, but it’s Lewis

Is 

leam 

an 

cù.

cop 
with.1s 
the 
dog

 “The dog is mine.” “I own the dog”
AZSGP: ok with “leamsa” instead of “leam”

Mar 
a 

b’ 


abhaist 
dhaibh.

 as 

wh-C 
cop.past 
habit 

to.3p

 “As they were accustomed.”/ As they used to
Is 

dòcha 

gun 
tig 


e.

cop 
probable 
that 
come.fut 
3sm
 “He will probably come.”

Is 

urrainn 
dhomh.

cop 
ability 

to.1s

 “I can.”

Ex. of how a copular construction, followed by the verbal noun or infinitive, takes on the role of the English auxiliary verb, followed by the infinitive.

*Is 
urrainn 
mi.

cop 
ability 

I

 “I can.”

Note: UNGRAMMATICAL

 Is 

còir 

dhomh.

cop
interest 
to.1s

 “I ought to me.”

 Is 

fheudar 
dhomh.

cop 
obligation to.1s

 “I must.”

Is 

èigin 


dhomh.

cop 
compulsion 
to.1s

 “I must.”

NOTE: might be another dialect, not skye.

